Calculate Percents of Decimals

6.88 x 70% =

0.79 x 90% =

1.05 x 20% =

3.61 x 60% =

6.72 x 40% =

2.99 x20% =

2.68 x 60% =

277 x30% =

6.26 x 50% =

0.25 x 30% =

Date: Score:

1.84 < 50% =

3.15 x90% =

1.78 x 60% =

3.68 x 90% =

8.72 x 40% =

0.45 x70% =

0.18 x 50% =

3.01 x20% =

0.94 x 40% =

8.64 x 40% =
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Calculate Percents of Decimals

6.88 x 70% = 4.816

0.79 x90% = 0.711

1.05 x 20% = 0.21

3.61 x 60% = 2.166

6.72 x 40% = 2.688

2.99 x 20% = 0.598

2.68 x 60% = 1.608

277 x30% = 0.831

6.26 x 50% = 3.13

0.25 x 30% = 0.075

Date:

1.84 x 50% = 0.92

3.15 x90% = 2.835

1.78 x 60% = 1.068

3.68 x90% = 3.312

8.72 x 40% = 3.488

0.45 x70% = 0.315

0.18 x 50% = 0.09

3.01 x20% = 0.602

0.94 x 40% = 0.376

8.64 x 40% = 3.456
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